
 

Now have a go yourself .. . .  

How to . . .  

Using Indices  

(a) Simplify a4 x a5 

 

 

(1) 

(b) Simplify 45e6f8 

       5ef2 
 

(2) 

(c) Write down the value of 9 

 

 

 

(1) 

MUST 

a) f5 x f3  b) f2x f4   c) f2x f5  

a) f4 ÷ f   b) f7 ÷ f2  c) f8 ÷ f4 

a) (2f3)2  b) (2f2)3  c) (2f2)2 

SHOULD 

a) 2f5 x 3f3  b) 2f2x 3f  c) 2f2x 2f 

a) e2f8 x e3f2 b) (e3f)4  c) 5e5f4 x 3e3f  

a) f12 x f2  b) 24e8f9   c) 18e4f9  
        f4                 8e4f3          6e4f3 
COULD 

a) f0    b) (f-2)5    c) 91  

a) 270    b) 16       c) 25 

a) (f4)-5    b) 8    c) 27  

 6f3  4f4  4    f5   1     e5f10     f8    

    f3     6f8      f-10         4f6      2           f10   9 

 3  e12f4  5  f7      3e4f6       4f3           f-20 

      1     f6  15e8f5       8f6         f4       3f6  
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Checklist 

 

 

Ready to be marked ?  
Simplify the following: 

a) a3 x a5     b) a6 x a-4 

 

c) 2a2 x 3ab    d) 3a2b x 5a2b 

 

e) a7÷ a5     f) a6 ÷ a-4 

 

g) (f2)3      h) (3f3)2 

 

i) (5f-4)2     j) 140 

 

k) 55e5f7     l) 27e4f6 
     5ef2            3ef6 

 

m) 81       n) 64 

Answer checked 

Working out shown 
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 Things to remember ... 

 

 

 What went well ...  
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